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BOOKS - CENGAGE MATHS (ENGLISH)

CONIC SECTIONS

Others

1. Given that 
and 
 are two
 points and 
 is a point
 on 


produced
such that 
Find the
coordinates of 

Watch Video Solution

A(1, 1) B(2, − 3) D

AB AD = 3AB. D.

2. Find the coordinates of the point which divides
 the line segments

joining the points 
 and 
 in the
 ratio 
 (i)
 internally and

(ii) externally.

(6, 3) ( − 4, 5) 3: 2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_YP8poGBoYX9k
https://dl.doubtnut.com/l/_ZKaBCBVuB8Nd


Watch Video Solution

3. Four points 
and 
 are given
 in

such a way that 

Watch Video Solution

A(6, 3), B( − 3, 5), C(4, − 2) D(x, 2x)

= .
(AreaofDBC)

(AreaofABC)

1

2

4. If the points 
 and 
 are
 collinear, then

find the value of 

Watch Video Solution

(1, 1) : (0, sec2 θ); (cos ec2θ, 0)

θ

5. Given that 
 are 
 points in a
 plane whose coordinates

are 
respectively. 
is bisected
at the point 


is divided
in the ratio 
at 
is divided
in the ratio 1:3

at 
is divided
in the ratio 
at 
 , and so on until all 
points

are
exhausted. Find the final point so obtained.

Watch Video Solution

A1, A2, A3, An n

x1, y1), (x2, y2), (xn, yn), A1A2

P1, P1A3 A : 2 P2, P2A4

P3, P3A5 1: 4 P4 n

https://dl.doubtnut.com/l/_ZKaBCBVuB8Nd
https://dl.doubtnut.com/l/_rMCuPFqMJRYB
https://dl.doubtnut.com/l/_0fjLXy8gGYdp
https://dl.doubtnut.com/l/_lj2jzrEzmOJJ


6. If 
 divides 
 internally
 in the ratio 
 and 
 divides 

externally
in the ratio 
then prove
that 
 is the
harmonic mean

of 
and 

Watch Video Solution

P OA λ1 : λ2 Q OA

λ1; λ2, OA

OP OQ.

7. Prove that the point 
 are the

vertices of parallel-gram. Is it a rectangle?

Watch Video Solution

( − 2, − 1), (1, 0), (4, 3)and(1, 2)

8. Determine the ratio in which the line 
 divides the

segment joining the points (1,3) and 

Watch Video Solution

3x + y − 9 = 0

(2, 7).

https://dl.doubtnut.com/l/_lj2jzrEzmOJJ
https://dl.doubtnut.com/l/_Km30UX2XXD53
https://dl.doubtnut.com/l/_Mh98PAAWtEBq
https://dl.doubtnut.com/l/_9b8lDeJsAo3v


9. Find the orthocentre of the triangle whose
 vertices are 

and 

Watch Video Solution

(0, 0), (3, 0),

(0, 4).

10. If a vertex of a triangle is 
 , and the middle points of two sides

passing
through it are 
 and 
 then find
 the centroid of the

triangle.

Watch Video Solution

(1, 1)

−2, 3) (5, 2),

11. The vertices of a triangle are 
 If the

internal angle bisector of 
 meets the
 side 
 in 
 then find
 the

length 

Watch Video Solution

A( − 1, − 7), B(5, 1)andC(1, 4).

∠B AC D,

AD.

https://dl.doubtnut.com/l/_p97Fil8dSku7
https://dl.doubtnut.com/l/_Hph3CHxRUAgb
https://dl.doubtnut.com/l/_9HcQ3H8UeG1G


12. If 
 having
 vertices 


 is

equilateral, then prove that

Watch Video Solution

ABC

A(acos θ1, asin θ1), B(acos θ2asin θ2), andC(acos θ3, asin θ3)

cos θ1 + cos θ2 + cos θ3 = sin θ1 + sin θ2 + sin θ3 = 0.

13. If the point 
taken in
order

are the vertices of a parallelogram, then find the values of 

Watch Video Solution

(x, − 1), (3, y), ( − 2, 3), and( − 3, − 2)

xandy.

14. If the midpoints of the sides of a triangle are


then find
the coordinates of its vertices.

Watch Video Solution

(2, 1), ( − 1, − 3), and(4, 5),

https://dl.doubtnut.com/l/_BbHXtGyrFWYU
https://dl.doubtnut.com/l/_dyqEfeV0y0L4
https://dl.doubtnut.com/l/_zzwjVnx52k1j


15. If the circumcenter of an acute-angled triangle
 lies at the origin and

the centroid is the middle point of the line joining
 the points


and 
then find
the orthocentre.

Watch Video Solution

(a2 + 1, a2 + 1) (2a, − 2a),

16. If a vertex, the circumcenter, and the centroid of
 a triangle are (0, 0),

(3,4), and (6, 8), respectively, then the triangle
must be
(a)  
a
right-angled

triangle
(b)  
an
equilateral triangle
(c)  
an isosceles
triangle
(d)   
a
right-

angled isosceles triangle

Watch Video Solution

17. Orthocenter and circumcenter of a 
 are 
 ,

respectively. If the coordinates of the vertex 
are 
then find
the

coordinates of the middle point of 

Watch Video Solution

ΔABC (a, b)and(c, d)

A (x1, y1),

BC.

https://dl.doubtnut.com/l/_rzsdMgPNeyph
https://dl.doubtnut.com/l/_JBfr6bcH6of2
https://dl.doubtnut.com/l/_nLpQMxS1YptB


18. If  are the vertices of traingle ABC

and , then show that 

.

Watch Video Solution

A(x1, y1), B(x2, y2) and C(x3, y3)

x2
1 + y21 = x2

2 + y22 = x2
3 + y23

x1 sin 2A + x2 sin 2B + x3 sin 2C = y1 sin 2A + y2 sin 2B + y3 sin 2C = 0

19. The points 
and 
are
(a)
vertices of

an equilateral triangle
(b)
vertices of
an isosceles triangle
(c)
vertices of a

right-angled triangle
(d)
collinear

Watch Video Solution

(a, b), (c, d), ( , )
kc + la

k + l

kd + lb

k + l

20. The circumcenter of the triangle formed by the
 line 

and 
is

A. (a) 

B. (b) 

y = x, y = 2x,

y = 3x + 4

(6, 8)

(6, − 8)

https://dl.doubtnut.com/l/_H79l2Hc5Dpon
https://dl.doubtnut.com/l/_6vEqc5qHgfCX
https://dl.doubtnut.com/l/_QzJGE7WnCCaz


C. (c) 

D. (d) 

Answer: null

Watch Video Solution

(3, 4)

( − 3, − 4)

21. The line joining 
and 
is produced

to the point 
 so that 
 and 
 are in the
 ratio 
 Then

Watch Video Solution

A(b cosα, b sinα) B(a cos β, a sinβ)

M(x, y) AM BM b : a.

x cos( ) + y sin( )
α + β

2

α + β

2

22. If the middle points of the sides of a triangle
 are


, then find the centroid of the triangle.

Watch Video Solution

( − 2, 3), (4, − 3), and(4, 5)

https://dl.doubtnut.com/l/_QzJGE7WnCCaz
https://dl.doubtnut.com/l/_KV3bR7X6tXad
https://dl.doubtnut.com/l/_OiYzZxV3VS8R


23. In what ratio does the x-axis divide the line
segment joining the points


and (5, 6)?

Watch Video Solution

(2, − 3)

24. If 
is the
centroid of a triangle and the coordinates of its any two

vertices are 
and 
find the
area of the triangle.

Watch Video Solution

(1, 4)

(4, − 8) ( − 9, 7),

25. If 
are the
vertices of an equilateral triangle such

that 

then find
the value of 
.

Watch Video Solution

(xi, yi), i = 1, 2, 3,

(x1 + 2)2 + (y1 − 3)2 = (x2 + 2)2 + (y2 − 3)2 = (x3 + 2)2 + (y3 − 3)2,

x1 + x2 + x3

y1 + y2 + y3

https://dl.doubtnut.com/l/_vnqrdJXcCnpN
https://dl.doubtnut.com/l/_0TmRJyJi9kUo
https://dl.doubtnut.com/l/_Zm4t8aLCq9zM


26. A
particle just clears a wall of height b at distance a and strikes the

ground
 at a distance c from the point of projection. The angle of

projection is
(1) 
(2) 
(3) 
(4) 

Watch Video Solution

tan−1 b

ac
45o

tan−1(bc)

a(c − a)

tan−1(bc)

a

27. Find the locus of a point, so that the join of 
 and 

subtends a
right angle at the moving point.

Watch Video Solution

( − 5, 1) (3, 2)

28. The sum of the squares of the distances of a
moving point from two

fixed points (a,0) and 
 is equal to
 a constant quantity 
 Find

the
equation to its locus.

Watch Video Solution

( − a, 0) 2c2.

https://dl.doubtnut.com/l/_hbmuUFVZOn1w
https://dl.doubtnut.com/l/_8grXzy1YDdzT
https://dl.doubtnut.com/l/_Zotc1fNJcBvc


29. 
 is a
 variable line sliding between the coordinate axes in such a

way that 
 lies on the
 x-axis and 
 lies on the
 y-axis. If 
 is a
 variable

point on 
 such that 
 , and 
 find the

equation of the locus of 

Watch Video Solution

AB

A B P

AB PA = b, Pb = a AB = a + b,

P .

30. A rod of length 
slides with
its ends on two perpendicular lines. Find

the locus of its midpoint.

Watch Video Solution

l

31. Find the locus of the point .

Watch Video Solution

(t2 − t + 1, t2 + t + 1), t ∈ R

https://dl.doubtnut.com/l/_WJJLq7zmTQN1
https://dl.doubtnut.com/l/_dyK9GhhM1jOd
https://dl.doubtnut.com/l/_QIgCbcVWiPsT


32. Find the locus of a point such that the sum of its
 distance from the

points (2, 2) and 
is 6.

Watch Video Solution

(2, − 2)

33. Two points P(a,0) and Q(-a,0)
 are given. 
 is a
 variable point on one

side of the line 
such that 
is a
positive constant 

Find the
locus of the point 

Watch Video Solution

R

PQ ∠RPQ − ∠RQP 2α.

R.

34. If the coordinates of a variable point 
are 
where 

is a
variable quantity, then find the locus of 

Watch Video Solution

P (a cos θ, b sin θ), θ

P .

https://dl.doubtnut.com/l/_RGlGYNzMP86K
https://dl.doubtnut.com/l/_KTrlaDNcsQYs
https://dl.doubtnut.com/l/_Slbj9yijcPb3


35. Find the locus of a point whose distance from (a,
 0) is equal to its

distance from the y-axis.

Watch Video Solution

36. The coordinates of the point 
 are (a,0)
 and 

respectively. If a point 
 moves so
 that 
 when 
 is

constant, then find the equation to the locus of the point 

Watch Video Solution

A and B ( − a, 0),

P PA2 − PB2 = 2k2, k

P .

37. The locus of the foot of perpendicular drawn from
origin to a variable

line passing through fixed points (2,3) is a circle whose diameter is?

Watch Video Solution

https://dl.doubtnut.com/l/_qzH9aB1KSn8v
https://dl.doubtnut.com/l/_rX4eHyQYbcii
https://dl.doubtnut.com/l/_K5CNE6VVg7XX


38. A variable line through the point 
meets the
axes at A an d B
 .

Find the locus of the centroid of triangle 
(where 
is the
origin).

Watch Video Solution

P (2, 1)

OAB O

39. If 
 are the
 vertices of 


then as 
varies,
find the locus of its centroid.

Watch Video Solution

A(cosα, sinα), B(sinα, − cosα), C(1, 2)

ABC, α

40. Let 
 be the
 vertices of 
 If the

centroid of the triangle moves on the line 
 then find
 the

locus of the vertex 

Watch Video Solution

A(2, − 3) and B( − 2, 1) ΔABC.

2x + 3y = 1,

C.

https://dl.doubtnut.com/l/_JJal0ChTXg9P
https://dl.doubtnut.com/l/_0NqUtw6cOjgc
https://dl.doubtnut.com/l/_QEHcza2hIqin


41. Convert the following points from polar
 coordinates to the

corresponding Cartesian coordinates.
 (i)


 (xii)
 (ii) 


 (xxiii) (iii) 

(xxxvii)

Watch Video Solution

(ii)(iii)((iv)(v)2, (vi) 3(viii)(ix)(x))(xi)
π

vii

(xiii)(ξv)((xv)(xvi)0, (xvii) 2(xix)( × )( × i))(xxii)
π

xviii

(xxiv)( × v)((xxvi)( × vii) −√(xxviii)2(xxix)(xxx), ( × ξ) 4(xx
π

xxxii

42. A straight line is drawn through 
to meet the
axis of 
and 
at


, respectively. If the rectangle 
is
completed, then find the

locus of 

Watch Video Solution

P (3, 4) x y

AandB OACB

C.

43. A variable line passing through point 
meets the
axes at A and

B
 . Find the locus of the circumcenter of triangle 
 (where 
 is the

origin).

P (2, 1)

OAB O

https://dl.doubtnut.com/l/_bGh2pSp3ednw
https://dl.doubtnut.com/l/_nzMiw7kdpQls
https://dl.doubtnut.com/l/_T1ndBbuRrp7s


Watch Video Solution

44. A point moves such that the area of the triangle
formed by it with the

points (1, 5) and 
Then, find
the locus of the point.

Watch Video Solution

(3, − 7)is21sq
.
units.

45. Find the locus of the point of intersection of
 lines


and 
is a
variable).

Watch Video Solution

x cosα + y sinα = a x sinα − y cosα = b(α

46. Find the locus of the middle point of the portion
 of the line


which is
intercepted between the axes, given that 

remains
constant.

Watch Video Solution

x cosα + y sinα = p p

https://dl.doubtnut.com/l/_T1ndBbuRrp7s
https://dl.doubtnut.com/l/_tauQkiW79ldF
https://dl.doubtnut.com/l/_o5C6qM4Jmn5d
https://dl.doubtnut.com/l/_yJHdULk0uDfA
https://dl.doubtnut.com/l/_UC1Z4dTBk38S


47. 
is a
variable point whose locus is 
corresponding

to a particular position of 
 is the
 point of section of 
 being

the
origin, such that 
Find the
locus of 

Watch Video Solution

Q 2x + 3y + 4 = 0;

Q, P OQ, O

OP :PQ = 3: 1. P .

48. Convert 
into a
polar equation.

Watch Video Solution

y = 10

49. Convert the following Cartesian coordinates to the
 corresponding

polar coordinates using positive 
 and
 negative 
 (i)


 (viii)
 (ii) 


(xv)

Watch Video Solution

r r.

(ii)(iii)((iv)(v) − 1, 1(vi))(vii)

(ix)(x)((xi)(ξi)2, − 3(xiii))(xiv)

https://dl.doubtnut.com/l/_UC1Z4dTBk38S
https://dl.doubtnut.com/l/_LG3aL2JMz52y
https://dl.doubtnut.com/l/_eaYAoYJlStvp


50. Find the minimum distance of any point on the line


from the
origin using polar coordinates.

Watch Video Solution

3x + 4y − 10 = 0

51. If
the difference between the roots of the equation 

is less than 
 , then the set of possible values of a is
 (1)
 
 (2) 


(3) 
(4) 

Watch Video Solution

x2 + ax + 1 = 0

√5 ( − 3, 3)

( − 3, ∞) (3, ∞) ( − ∞, − 3)

52. Express the polar equation 
in
rectangular coordinates.

Watch Video Solution

r = 2cos θ

53. Let
 L be the line of intersection of the planes 
 and 


. If L makes an angles  with
the positive x-axis, then cos

2x + 3y + z = 1

x + 3y + 2z = 2 α

https://dl.doubtnut.com/l/_hbWkXKlwp2mK
https://dl.doubtnut.com/l/_N53rhkEnAjQp
https://dl.doubtnut.com/l/_6NHiyhLFEw6H
https://dl.doubtnut.com/l/_EKhIN9tol0gw



equals

Watch Video Solution

α

54. Convert 
into its
equivalent Cartesian equation.

Watch Video Solution

r sin θ = r cos θ + 4

55. Convert 
into its
equivalent Cartesian equation.

Watch Video Solution

r = cos ecθer cos θ

56. A
particle just clears a wall of height b at distance a and strikes the

ground
 at a distance c from the point of projection. The angle of

projection is
(1) 
(2) 
(3) 
(4) 

Watch Video Solution

tan−1 b

ac
45o

tan−1(bc)

a(c − a)

tan−1(bc)

a

https://dl.doubtnut.com/l/_EKhIN9tol0gw
https://dl.doubtnut.com/l/_RPXyvMaU7CQb
https://dl.doubtnut.com/l/_UyiwsivfAh4s
https://dl.doubtnut.com/l/_4zslyJBVElXg


57. Convert the following polar coordinates to its
 equivalent Cartesian

coordinates.
 (i)
 
 (v)
 (ii) 

(xix)
 (iii)

(xxx)

Watch Video Solution

(ii)(iii)2, π)(iv)

(vi)(vii)((viii)(ix)√(x)2(xi)(xii), (ξii) 6(xv)(xvi)(xvii))(xviii)
π

xiv

(xx)( × i)((xxii)( × iii) − 3, − (xxiv) 6(xxvi)( × vii)( × viii))(xx
π

xxv

58. If
 (2, 3, 5) is one end of a diameter of the sphere


 ,
 then the coordinates of the

other end of the diameter are
 (1) 
 (2) 
 (3) 

(4) 

Watch Video Solution

x2 + y2 + z2 − 6x − 12y − 2z + 20 = 0

(4, 9, − 3) (4, − 3, 3) (4, 3, 5)

(4, 3, − 3)

59. Convert 
into its
equivalent Cartesian equation.

Watch Video Solution

r = 4tan θ secθ

https://dl.doubtnut.com/l/_mW23MJ17L8tL
https://dl.doubtnut.com/l/_BnOjhYYih7Vg
https://dl.doubtnut.com/l/_c6Al7C9cH7oX


60. Given the equation 
 . Through what angle

should the axes be rotated so
 that the term 
 is removed
 from the

transformed equation.

Watch Video Solution

4x2 + 2√3xy + 2y2 = 1

xy

61. The equation of a curve referred to a given system
 of axes is


Find its
equation if the axes are rotated through

an angle 
, the origin remaining unchanged.

Watch Video Solution

3x2 + 2xy + 3y2 = 10.

450

62. Determine 
so that the
line passing through 
makes

an
angle of 
with the
positive direction of the x-axis.

Watch Video Solution

x (3, 4) and (x, 5)

1350

https://dl.doubtnut.com/l/_c6Al7C9cH7oX
https://dl.doubtnut.com/l/_IVRxjTCYBxMU
https://dl.doubtnut.com/l/_mD00NgSmyNdD
https://dl.doubtnut.com/l/_87WU2T5XYzO0
https://dl.doubtnut.com/l/_TiFBCZWRY6EE


63. What does the equation 

become when
 referred to the rectangular axes through the point


, the new axes being inclined at an angle at 
with the
old

axes?

Watch Video Solution

2x2 + 4xy − 5y2 + 20x − 22y − 14 = 0

( − 2, − 3) 450

64. Shift the origin to a suitable point so that the
 equation


will not
contain a term in 
and the
constant term.

Watch Video Solution

y2 + 4y + 8x − 2 = 0 y

65. At what point should the origin be shifted if the
 coordinates of a

point 
become 

Watch Video Solution

(4, 5) ( − 3, 9) ?

https://dl.doubtnut.com/l/_TiFBCZWRY6EE
https://dl.doubtnut.com/l/_JBDhWEulxLcQ
https://dl.doubtnut.com/l/_0RABB1EFp9Os


66. Find the equation to which the equation


 is transformed if the origin is

shifted to the
point 
the axes
remaining parallel to the original

axies.

Watch Video Solution

x2 + 7xy − 2y2 + 17x − 26y − 60 = 0

(2, − 3),

67. The equation of curve referred to the new axes,
 axes retaining their

directions, and origin 
 is 
 . Find the equation

referred to the original axes.

Watch Video Solution

(4, 5) X2 + Y 2 = 36

68. If the point , and  are collinear, then find the value

of ,using slope method.

Watch Video Solution

(2, 3), (1, 1) (x, 3x)

x

https://dl.doubtnut.com/l/_iGgb8pouAhdJ
https://dl.doubtnut.com/l/_ufbpSTrX53IX
https://dl.doubtnut.com/l/_ZElJsbe9umKn
https://dl.doubtnut.com/l/_H48lIldjVqlu


69. Which line is having the greatest inclination with
 the positive

direction of the x-axis?


(i) Line joining the points (1, 3) and (4, 7)


(ii)Line 

Watch Video Solution

3x − 4y + 3 = 0

70. Find the orthocentre of 
 with
 vertices 

and 

Watch Video Solution

ΔABC A(1, 0), B( − 2, 1),

C(5, 2)

71. The angle between the line joining the points  and the

line  is

Watch Video Solution

(1, − 2), (3, 2)

x + 2y − 7 = 0

https://dl.doubtnut.com/l/_H48lIldjVqlu
https://dl.doubtnut.com/l/_qfUQYMSlCTfc
https://dl.doubtnut.com/l/_6QweX7rRNj9j


72. The line joining the points  and  is perpendicular to the

line 
Find the values of .

Watch Video Solution

A(2, 1) B(3, 2)

(a2)x + (a + 2)y + 2 = 0. a

73. For what value of k are the points


are collinear?

Watch Video Solution

(k, 2 − 2k)( − k + 1, 2k)and( − 4 − k, 6, 6 − 2k)

74. Find the area of the quadrilateral  having
 vertices 

 and .

Watch Video Solution

ABCD

A(1, 1), B(7, − 3), C(12, 2), D(7, 21)

75. Given that 
 and 
 are three
 points such that

the angle 
 is a right
angle and the area of 
 is 7, find
the value

P (3, 1), Q(6. 5), R(x, y)

PQR RQP

https://dl.doubtnut.com/l/_v4G4Yw8PVoiQ
https://dl.doubtnut.com/l/_3mch8a8GdeTL
https://dl.doubtnut.com/l/_eWsQB9UfwFnf
https://dl.doubtnut.com/l/_Zm1y1Q51UwLK


of 

Watch Video Solution

4x − 3y + 5

76. If 
 is the
origin and if the coordinates of any two points 

are 
 respectively, prove that 

.

Watch Video Solution

O Q1 and Q2

(x1, y1) and (x2, y2),

OQ1. OQ2 cos∠Q1OQ2 = x1x2 + y1y2

77. Prove that the area of the triangle whose vertices
 are


and 
is
independent of 

Watch Video Solution

(t, t − 2), (t + 2, t + 2), (t + 3, t) t.

78. Find the area of a triangle having vertices  and 

.

Watch Video Solution

A(3, 2), B(11, 8)

C(8, 12)

https://dl.doubtnut.com/l/_Zm1y1Q51UwLK
https://dl.doubtnut.com/l/_KFqnLUYcE1TB
https://dl.doubtnut.com/l/_Gr0ZIp7XyM6n
https://dl.doubtnut.com/l/_AWRNchnu0oUe


79. In 
 Prove that 
 , where 
 is the

middle point of 

Watch Video Solution

ABC AB2 + AC 2 = 2(AO2 + BO2) O

BC

80. Two points 
 and 
 with
 another point 
 form an

equilateral triangle. Find the coordinates of 

Watch Video Solution

O(0, 0) A(3, √3) P

P .

81. Find the coordinate of the circumcenter of the triangle whose vertices

are C(6,6)`. Find its radius also.

Watch Video Solution

A(5, − 1), B( − 1, 5), and

https://dl.doubtnut.com/l/_AWRNchnu0oUe
https://dl.doubtnut.com/l/_0L0Z1MTOsWXW
https://dl.doubtnut.com/l/_7BICgwlSKcPR
https://dl.doubtnut.com/l/_6Qj8vorbt9IB


82. Find the orthocentre of 
 with
 vertices 

and 

Watch Video Solution

ΔABC A(1, 0), B( − 2, 1),

C(5, 2)

83. If 
 , then
 prove that the

circumcenter of the triangle having vertices 
and 

is 

Watch Video Solution

(b2 − b1)(b3 − b1) + (a2 − a1)(a3 − a1) = 0

(a1, b1), (a2, b2) (a3, b3)

( , )
a2+a3

2

b2+ b3

2

84. If line 
 is parallel
 to the line 

then find
the value of 

Watch Video Solution

3x − ay − 1 = 0 (a + 2)x − y + 3 = 0

a.

https://dl.doubtnut.com/l/_K1EurRc4UEIK
https://dl.doubtnut.com/l/_9V1ZuZVbQA4f
https://dl.doubtnut.com/l/_QcSMO55Ff3N5


85. If 
 are two
 points, then find the ratio in which

the food of the perpendicular from 
to 
divides it.

Watch Video Solution

A(2, − 1)andB(6, 5)

(4, 1) AB

86. Angle of a line with the positive direction of the
x-axis is 
 . The line is

rotated about some point on it in
 anticlockwise direction by angle 

and its
slope becomes 
Find the
angle 

Watch Video Solution

θ

450

3. θ.

87. Let 
 be two given point. Find the slope of a line

perpendicular to 

Watch Video Solution

A(6, 4)andB(2, 12)

AB.

https://dl.doubtnut.com/l/_daABrxTT5DLR
https://dl.doubtnut.com/l/_zQXwSVUBqsJd
https://dl.doubtnut.com/l/_IZ3hoPZ2Tcsy


88. If the points , and  are concyclic 

, then prove that .

Watch Video Solution

(a, 0), (b, 0), (0, c) (0, d)

(a, b, c, d > 0) ab = cd

89. If 
 are three points, find the

angle between 

Watch Video Solution

A( − 2, 1), B(2, 3)andC( − 2, − 4)

BAandBC.

90. The line joining the points 
 makes an
 obtuse angle

with the positive direction of the x-axis. Then find the values
of 

Watch Video Solution

(x, 2x)and(3, 5)

x.

91. If the line passing through 
 is parallel
 to the line 


then find
the value of 

(4, 3)and(2, k)

y = 2x + 3, k.

https://dl.doubtnut.com/l/_lrMBtBT5XUeD
https://dl.doubtnut.com/l/_Raq5BNXIV2Ws
https://dl.doubtnut.com/l/_dccUQLs2od0A
https://dl.doubtnut.com/l/_nlx0boeVvqZ0


Watch Video Solution

92. Find the area of the pentagon whose vertices are


and 

Watch Video Solution

A(1, 1), B(7, 21), C(7, − 3),D(12, 2), E(0, − 3)

93. Let 
and 
is a
variable point on the lines 
=6. IF 

, then find the number of position of 
with
integral coordinates.

Watch Video Solution

A = (3, 4) B |x| AB ≤ 4

B

94. The three points 
 are the
 vertices

of
 (a)
 an isosceles
 triangle
 (b)
 an
 equilateral triangle
 (c)
 a
 right-angled

triangle (d) none of these

Watch Video Solution

( − 2, 2)(8, − 2), and( − 4, − 3)

https://dl.doubtnut.com/l/_nlx0boeVvqZ0
https://dl.doubtnut.com/l/_tMnX8Gkwek2E
https://dl.doubtnut.com/l/_pkezGxVzKspG
https://dl.doubtnut.com/l/_La4tfRfYONzo
https://dl.doubtnut.com/l/_klUvenM2SC5u


95. The points 
 are
 (a)
 vertices of
 an

equilateral triangle (b)
vertices of a
right angled triangle
(c)
vertices of
an

isosceles triangle
(d)
collinear

Watch Video Solution

( − a, − b), (a, b), (a2, ab)

96. The distance between the point ( 
and (

is

Watch Video Solution

a cosα, a sinα) a cos β, a sinβ)

97. Find the length of altitude through 
 of the
 triangle 
 where 

Watch Video Solution

A ABC,

A ≡ ( − 3, 0)B ≡ (4, − 1), C ≡ (5, 2)

98. If the coordinates of two points 
 and 
 are (3, 4)
 and 
 ,

respectively, find the coordinates of any point 
 if 
 Area of 

A B (5, − 2)

P PA = PB.

https://dl.doubtnut.com/l/_klUvenM2SC5u
https://dl.doubtnut.com/l/_gS0Fj5EzkKDn
https://dl.doubtnut.com/l/_truUMxwN77iK
https://dl.doubtnut.com/l/_EkUHCKfulYp3



is 10 sq.
units.

Watch Video Solution

PAB

99. If the point 
 and 
 are the
 vertices of an

equilateral triangle, then (p ,q) is

A. (a) (0,-4)

B. (b) (4,4)

C. (c) (4,0)

D. (d) (5,0)

Answer: null

Watch Video Solution

(0, 0), (2, 2√3), (p, q)

100. Given points 
 (i)
 Find the value of 


(iv)
if 
(viii)
is minimum
(ix)
Find the value

P (2, 3), Q(4, − 2), andR(α, 0)

(ii)α(iii) (v)(vi)PR + rQ(vii)

https://dl.doubtnut.com/l/_EkUHCKfulYp3
https://dl.doubtnut.com/l/_sbahL9JHjKJm
https://dl.doubtnut.com/l/_Wv8vZ3nHb1sc


of 
(xii)
if 
(xvii)
is maximum

Watch Video Solution

(x)α(xi) (xiii)(ξv)|(xv)PR − RQ|(xvi)

101. If the vertices of a triangle have rational
coordinates, then prove that

the triangle cannot be equilateral.

Watch Video Solution

https://dl.doubtnut.com/l/_Wv8vZ3nHb1sc
https://dl.doubtnut.com/l/_vvY1YvkTlflF

